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Part One : Reading & Interpreting

A/ Comprehension :

(0,5X4) 1- A-b B-b C-c D-a

2- Questions Of Comprehension :

a-Ethics in advertising means a set of well defined principles
which govern the ways of communication taking place between
the seller and the buyer.

b-Advertisers augment their sales by presenting a well
decorated and colourful ad and claiming that their product is
the best, having unique qualities than the competitors, more cost
effective, and more beneficial.

(0,5) C-No, they don'’t.

(1,5Pt)

(3,5Pts)
(1,5 Pt)

3-The textis (a) a web article.

4-Reference Terms :
-Which : (well defined )Principles - They : advertisers
-Them : consumers.

(1Pt) (1PY)

(1,5Pt) (0,5X3)

B/ Text Exploration :

(7Pts) : :
1-Lexis : a-Benefits  b-.Increase

(1PY)

(0,5X2)

2-Dividing words into roots and affixes:

Words

Prefix

Root

Suffix

(1,5Pt)

(1,5Pt)

(0,25X6)

(0,75X2)

Unethical Un ethic(s) al
Misleading | Mis lead ing

3-Transformations:

b1-Knowledge of ethical norms and principles is lacked by
advertisers.

b2-He says that the food industry was cartoon characters to
to capture children’s attention .




4-Sound System : The final « ed ».

It/ /d/ /1d/
(1PY) (0,25X4) convinced advertised decorated-
decided
5- Reordering sentences :
a b C
(2Pts) (0,5X4) 3 2 4

Part Two: Written Expression.
(5Pts) Topic 1: form = 3pts / content= 2pts.
Topic2: form = 25pts/ content=2.5pts.

) £ g gal

Part one : Reading
A. Comprehension

1/ 1b 2.c
2/ FFTT
3/ 84

4/ a) planned mission lifetime of at least 3.5 years

15PTS
08pts

(1Pt)
(2pts)
(1pt)
(3pts)

b)to survey a portion of our galaxy/to discover Earth size planets/to determine how many of the billions of

stars in our galaxy have such planets..

c) Kepler's field of view gives much higher probability of detecting Earth-like planets than Hubble telescope/it
is used to detect planetary transits while Hubble space telescope is used to address a wide range of scientific

questions, but rarely looks continuously at just one star field..
5/ b)expository

B. Text Exploration
1/a. brightness b. continuously c. similar
2/to observe -observation / detection( a detective) —detective adj/ to continue -continuous
3/a. The telescope is so practical that can observe many planets of other solar systems.
b. Both Corot and Kepler can measure the reflected light from planets.
4/ How long does Jupiter take to make one turn around the sun ?

5/
One syllable Two syllables Three syllables Four syllables
space brightness telescope astronomer
6/ d-a-c-b

Part Two : Written Expression
Topic one :Form(3pts) Content (2pts)
Topic two :Form(2.5pts) Content(2.5)

(1pt)
07pts
(1.5pt)
(1.5pt)
(1pt)
(1pt)

(1pt)

(1pt)
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